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An	
  image	
  taken	
  by	
  black	
  and	
  
white	
  digital	
  camera	
  can	
  be	
  
viewed	
  as	
  a	
  vector,	
  with	
  one	
  
coordinate	
  for	
  each	
  pixel	
  

	
  
Each	
  pixel	
  has	
  a	
  “gray	
  scale”	
  value,	
  can	
  be	
  
thought	
  of	
  as	
  a	
  real	
  number	
  (in	
  reality,	
  takes	
  one	
  
of	
  255	
  values)	
  
	
  
Typical	
  camera	
  uses	
  tens	
  of	
  thousands	
  of	
  pixels,	
  
so	
  images	
  lie	
  in	
  a	
  very	
  high	
  dimensional	
  space,	
  call	
  
it	
  pixel	
  space,	
  P	
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